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yEc an aMt tr.ttffiel*d{Affi r

Question No. 1 is compulsory, ansuer ahy TwO questions fiom the temaining.

ydo vtt * $n qtal ol aqav qq set 6d Affi t
Solve all parts of a queslioh consecutively togethel

td+*wolttyYC mar Effi t
Start edch question on /resh page.

ali enrsi t aar qt) * fuhl riffi aUdIE A 44 t t
Only English version is valid in case ofdifeterce in both the lahguages

l. (i) qirr Surs + qfu{fut 6fuq t

Define Demand Factor.

(iD ffg( 3Er€ A g'a Errd 61GEdi lTr.il t cia qrdl i ?

lo how many group total cost of generation of electricity be divided ?

(iii) 3ftdtr6 3q*fiI311* fds+{* 2fts 3cfr4 { d qd t ?

Which tariffis used for industial consumers ?

(iv) nft lqr* wrt t
What is Power Factor ?

(v) gq6rfudF 661 3rl{iq-{ d fuq sq*q i fucr qil e ?

What are the uses of synchronous phase modifier ? (4x5)

P.TO(10f4)
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2 o 
…
ずっ奇平師→:

Explain tlle Following factors:

(a)¶ も。い

Load Factor

(b) ●■
“
もЧゆ

Divcrsity Factor

(C)田 雨 もЧや

Capacity Factor

い)fⅢ漱 象翻
'齢
哺 哺 漏 薇 萌論硼 ぼ

Explain thc various iOad cun cs uscd at Powcr Station               (121/2+121/2)

3. (i) u<: *qa yqld + Grr ftfui I

Write the advantages of Intercorurection System.

(iD f{gil Tic *q ff Fn errm aqr e-qrm{ #fd fti-ffi srr*1cr fui{ 6(ff t ?

On whst factors the running and fixed cost ofpow€r generation station depends ?

(12y,+12y,)

a. (i) ffifu6yarn*lftssiqEr$rrS:
Explain the following types of Tariff.

C) wB-{c Bcpst 2fts

Hopkinson Demand rate tariff.

6; <Iete ?fts

Block rate tarif.

(iD \r{ Bc+ftr * sfit6 foo * rrqrqr Sffi ftrs6 if,fq-s-dq qir lo0 kw, rIft Iqs
0.8 (q[srro *{ lIR gqE 60% t I 6rc i ftqI vd erf,T tftq efu*m qiq * qo
kvA i6r I 75 nen r6Trt { d ,rt fd twh B-qt 6r I 5 ti t I

Calculate annual bill ofa consumer whose maximum demand is lfi) kW, powa
factor is 0.8 (lagging) and load factor is 60%. The taritr used is < 75 per kVA of
maximum demand plus 15 paise per kWh coasumed. (ll%+l2y)
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5. (D fdq{ft $ro*mqfeffi nqrw*fa-qarnrnsa-q} I

Write the causos of low power factor and also state its urfavourable elIects.

(ii) 6r g!r$ driltn ff Afui feBrql + {q ftrM rgsorfu* iqfa ft& qr qolq

6fri r

Write the names ofdiffercnt method of power factor improvement, Describe the
slmchronous condenser melhod. (L2%+l?yr)

6 (i)や馬R● 3縮漁駅躙甫諭 赫 青Jヽ沐η輛マ罰朦1命 a[qミ qぃ。[■1甲債舌綸台 1

Discuss the requircment oFreactive pOwer during pcak and ofFpeak 10ad

(ii)a[Ч lヽ取■■轟訥て新輛尋わ計諭u爾

…

¬ き?-1
mat are the b“ ic needs Ofbase load and peak load pOwer plants?Explaln

(121/2+121/2)

7 ()f油 う含ヽで ■R斎い of油面 ヽた
':W●

“

the short note on any twoお m followir8:

(o 楡゙疇VAr輔
Statlc VAr system

(り  qSu¬ :●0
Bundle co血転

“

)“ 蒙 輌

Conductor surFacc Cndients

O)論 姉 調 熟 罰 卿 齢 躙 乖 む0刺 ヽn■ で耐 舗 nl
Wttte the advantages and dに advantages ofcxtra hlgh voltages AC transmisζ on

(121/2+121/2)

8 o ｀嗽缶赫 赫 奇鮨 奇_t―
Explain the or‐ :●●d tap changing transformcr mth help ofsketch

① マn間 中 R帽 輸 富・ 輸 赫 雨 薇 mf繭 論 薇 む
-1
How●onml the v。 ltages h tansmission lic by shunt capacltor and scrlcs
cap"ltor?Expttn                     (121/2412り
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